Community Colleges and Workforce Development

WIA 1B Performance Measures

Program Year:

2004

Region: TOTAL STATE

Report Type: ANNUAL

Participation Summary

Program Outcomes

Date: 09/30/2005

60.0

56.8

75.0

71.0

Program Participation	Total	Pct.	Performance Measure				Rptd. Perf.	Neg. Level	80% Neg Level
Registrants:	15,318		Adult		Num.	Den.			
Adults	5,486	35.8	Entered Employment		2,934	3,531	83.1	75.0	60.0
Dislocated Workers	5,350	34.9	Retention Rate		3,160	3,850	82.1	83.0	66.4
Younger Youth	3,587	23.4	Earnings Change	10,8	87,173	3,374	3,227	2890	2312
Older Youth	895	5.8	Empl & Credential		489	752	65.0	60.0	48.0
Exiters: Adults	9,806	20. 5	Dislocated Worker Entered Employment		4,019	4,767	84.3	85.0	68.0
Dislocated Workers	3,876	39.5	Retention Rate		4,040	4,488	90.0	90.0	72.0
Younger Youth	3,927	40.0 16.4	Earnings Change	47,6	92,946	57,271,458	83.3	85.0	68.0
Older Youth	1,605 398	4.1	Empl & Credential		1,138	1,799	63.0	60.0	48.0
Time Periods	370	1.1	Older Youth Entered Employment Retention Rate		216 227	291 274	74.2 82.8	68.0 80.0	54.4 64.0
Registrants	Jul-04	T 0.F	Earnings Change	c	30,805	274	3,961	2985	2388
Exiters		Jun-05	Credential	_	198	367	54.0	50.0	40.0
Entered Employment Rate	Apr-04 Oct-03	Mar-05 Sep-04	Younger Youth		100	307	31.0	30.0	10.0
Retention Rate	Apr-03	Mar-04	Skill Attainment		3,332	3,919	85.0	75.0	60.0
Earnings Change	Apr-03	Mar-04	Diploma or Equivalent		594	861	69.0	55.0	44.0
Employment & Credential Rate	-	Sep-04	Retention Rate		665	982	67.7	58.0	46.4
Customer Satisfaction	Jan-04	Dec-04							
Diploma or Equivalent Rate	Apr-04	Mar-05							
Skill Attainment Rate	Apr-04	Mar-05							
			Customer Satisfaction	Sample Size	Complete Surveys	Response Rate	CSI Index		

Participant

Employer

1,864

1,994

1,304

1,414

70.0

70.9

82.20

Community Colleges and Workforce Development

WIA 1B Performance Measures

Program Year:

2004

Region: WSI, REGION 2

Report Type: ANNUAL

Participation Summary

Program Outcomes

Date: 09/30/2005

60.0

56.8

75.0

71.0

Program Participation	Total	Pct.	Performance Measure				Rptd. Perf.	Neg. Level	80% Neg Level
Registrants:	4,196		Adult		Num.	Den.			
Adults	1,536	36.6	Entered Employment		1,246	1,591	78.3	80.0	64.0
Dislocated Workers	1,731	41.3	Retention Rate		1,317	1,666	79.1	85.1	68.1
Younger Youth	670	16.0	Earnings Change	4,7	42,767	1,447	3,278	3000	2400
Older Youth	259	6.2	Empl & Credential		172	274	62.8	60.0	48.0
Exiters: Adults	3,717 1,507	40.5	Dislocated Worker Entered Employment		2,090	2,578	81.1	86.0	68.8
Dislocated Workers	1,899	40.5 51.1	Retention Rate		1,900	2,175	87.4	90.6	72.5
Younger Youth	212	51.1	Earnings Change	24,6	37,619	31,267,689	78.8	85.0	68.0
Older Youth	99	2.7	Empl & Credential		492	850	58.0	60.0	48.0
Time Periods			Older Youth Entered Employment Retention Rate		68 56	90 67	75.6 83.6	68.5 81.0	54.8 64.8
Registrants	Jul-04	Jun-05	Earnings Change	2	207,134	51	4,061	2985	2388
Exiters	Apr-04	Mar-05	Credential	-	58	108	53.7	50.0	40.0
Entered Employment Rate	Oct-03	Sep-04	Younger Youth						
Retention Rate	Apr-03	Mar-04	Skill Attainment		540	602	89.7	75.0	60.0
Earnings Change	Apr-03	Mar-04	Diploma or Equivalent		101	171	59.1	55.0	44.0
Employment & Credential Rate	-	Sep-04	Retention Rate		141	204	69.1	58.0	46.4
Customer Satisfaction	Jan-04	Dec-04							
Diploma or Equivalent Rate	Apr-04	Mar-05							
Skill Attainment Rate	Apr-04	Mar-05							
			Customer Satisfaction	Sample Size	Complete Surveys	Response Rate	CSI Index		

Participant

Employer

218

301

189

205

86.7

68.1

80.80

Community Colleges and Workforce Development

WIA 1B Performance Measures

Program Year:

2004

Region: MWWN, REGION 3

Participation Summary

Report Type: ANNUAL

Program Outcomes

Participation Sum	шат у			Program Out	COMES			
Program Participation	Total	Pct.	Performance Measure			Rptd. Perf.	Neg. Level	80% Neg Level
Registrants:	2,061		Adult	Num.	Den.			
Adults	724	35.1	Entered Employment	212	246	86.2	75.0	60.0
Dislocated Workers	603	29.3	Retention Rate	220	251	87.6	85.1	68.1
Younger Youth	575	27.9	Earnings Change	684,050	221	3,095	1875	1500
Older Youth	159	7.7	Empl & Credential	36	50	72.0	60.0	48.0
Exiters:	1,143		Dislocated Worker Entered Employment	270	311	86.8	85.0	68.0
Adults	399	34.9	Retention Rate	289	301	96.0	90.5	72.4
Dislocated Workers	326	28.5	Earnings Change	2,892,122	3,437,089	84.1	86.0	68.8
Younger Youth	317	27.7	Empl & Credential	63	100	63.0	60.0	48.0
Older Youth	101	8.8	Older Youth Entered Employment	37	57	64.9	68.0	54.4
Time Periods			Retention Rate	27	30	90.0	81.0	64.8
Registrants	Jul-04	Jun-05	Earnings Change	70,788	24	2,950	2985	2388
Exiters	Apr-04	Mar-05	Credential	34	78	43.6	50.0	40.0
Entered Employment Rate	Oct-03	Sep-04	Younger Youth					
Retention Rate	Apr-03	Mar-04	Skill Attainment	556	741	75.0	75.0	60.0
Earnings Change	Apr-03	Mar-04	Diploma or Equivalent	129	191	67.5	55.0	44.0
Employment & Credential Rate	Oct-03	Sep-04	Retention Rate	93	124	75.0	58.0	46.4
Customer Satisfaction	Jan-04	Dec-04						
Diploma or Equivalent Rate	Apr-04	Mar-05						
Skill Attainment Rate	Apr-04	Mar-05						
			Customer Satisfaction	~ 7				
				Sample Complete Size Surveys	Response Rate	CSI Index		
			Participant	326 237	72.7	84.20	75.0	60.0
			Employer	272 198	72.8	74.20	71.0	56.8

Community Colleges and Workforce Development

WIA 1B Performance Measures

Program Year:

2004 ANNUAL

Region: CSC, REGION 4

Report Type:

Participation Summary

Program Outcomes

Program Participation	Total	Pct.	Performance Measure			Rptd. Perf.	Neg. Level	80% Neg Level
Registrants:	693		Adult	Num.	Den.			
Adults	202	29.1	Entered Employment	90	95	94.7	77.0	61.6
Dislocated Workers	256	36.9	Retention Rate	125	136	91.9	85.1	68.1
Younger Youth	169	24.4	Earnings Change	273,335	117	2,336	2400	1920
Older Youth	66	9.5	Empl & Credential	15	23	65.2	60.0	48.0
Exiters:	386		Dislocated Worker	104	202	96.0		60.0
Adults	95	24.6	Entered Employment	194 203	202	95.8	86.5	69.2
Dislocated Workers	184	47.7	Retention Rate Earnings Change	2,236,208	2,533,319	95.8 88.3	90.5	72.4 68.4
Younger Youth	73	18.9	Empl & Credential	2,236,206	2,533,319	79.0	85.5	48.0
Older Youth	34	8.8	Older Youth Entered Employment	18	21	85.7	60.0	48.0 55.2
Time Periods			Retention Rate	16	20	80.0	81.0	64.8
	T 1 04	- OF	Earnings Change	67,710	16	4,232	2985	2388
Registrants	Jul-04	Jun-05	Credential	18	30	60.0	50.0	40.0
Exiters	Apr-04	Mar-05		10	30	00.0	50.0	40.0
Entered Employment Rate Retention Rate	Oct-03	Sep-04	Younger Youth Skill Attainment	157	180	87.2	75.0	60.0
	Apr-03	Mar-04	Diploma or Equivalent	33	43	76.7	50.0	40.0
Earnings Change Employment & Credential Rate	Apr-03	Mar-04	Retention Rate	46	64	71.9	58.0	46.4
Customer Satisfaction	Oct-03 Jan-04	Sep-04 Dec-04	110001101011 11000	10	01	71.0		
Diploma or Equivalent Rate								
Skill Attainment Rate	Apr-04	Mar-05						
SKIII Attainment Rate	Apr-04	Mar-05						
			Customer Satisfaction	Sample Complet		CSI Index		
			Participant	297 219	73.7	81.70	75.0	60.0
			Employer	294 208	70.7	74.20	71.0	56.8

Community Colleges and Workforce Development

WIA 1B Performance Measures

Program Year:

2004

Region: LWP, REGION 5

Report Type: ANNUAL

Participation Summary

Program Outcomes

Date: 09/30/2005

71.0

56.8

73.30

Program Participation	Total	Pct.	Performance Measure			Rptd. Perf.	Neg. Level	80% Neg Level
Registrants:	1,246		Adult	Num.	Den.			
Adults	430	34.5	Entered Employment	124	136	91.2	78.0	62.4
Dislocated Workers	512	41.1	Retention Rate	95	123	77.2	85.1	68.1
Younger Youth	269	21.6	Earnings Change	315,195	98	3,216	3200	2560
Older Youth	35	2.8	Empl & Credential	43	53	81.1	60.0	48.0
Exiters:	639		Dislocated Worker Entered Employment	255	277	92.1	86.0	68.8
Adults	245	38.3	Retention Rate	264	285	92.6	90.5	72.4
Dislocated Workers	317	49.6	Earnings Change	2,623,282	2,937,610	89.3	86.0	68.8
Younger Youth	71	11.1	Empl & Credential	110	145	76.0	60.0	48.0
Older Youth	6	0.9	Older Youth Entered Employment	4	7	57.1	68.0	54.4
Time Periods			Retention Rate	17	20	85.0	81.0	64.8
Registrants	Jul-04	Jun-05	Earnings Change	49,958	16	3,122	2985	2388
Exiters	Apr-04	Mar-05	Credential	5	8	62.5	50.0	40.0
Entered Employment Rate	Oct-03	Sep-04	Younger Youth					
Retention Rate	Apr-03	Mar-04	Skill Attainment	248	293	84.6	75.0	60.0
Earnings Change	Apr-03	Mar-04	Diploma or Equivalent	44	52	84.6	60.0	48.0
Employment & Credential Rate	Oct-03	Sep-04	Retention Rate	71	113	62.8	58.0	46.4
Customer Satisfaction	Jan-04	Dec-04						
Diploma or Equivalent Rate	Apr-04	Mar-05						
Skill Attainment Rate	Apr-04	Mar-05						
			Customer Satisfaction	Sample Complet		CSI Index		
			Participant	304 190	62.5	83.30	75.0	60.0

Employer

281

203

Community Colleges and Workforce Development

WIA 1B Performance Measures

Program Year:

2004

Region: TJC, REGION 8

Report Type: ANNUAL

Part:	lcipati	ion Su	mmary

Program Outcomes

Date: 09/30/2005

71.0

56.8

73.50

Program Participation	Total	Pct.	Performance Measure			Rptd. Perf.	Neg. Level	80% Neg Level
Registrants:	1,039		Adult	Num.	Den.			
Adults	307	29.5	Entered Employment	129	159	81.1	78.0	62.4
Dislocated Workers	295	28.4	Retention Rate	148	173	85.5	84.1	67.3
Younger Youth	370	35.6	Earnings Change	446,602	144	3,101	2980	2384
Older Youth	67	6.4	Empl & Credential	67	90	74.4	60.0	48.0
Exiters:	747		Dislocated Worker Entered Employment	234	260	90.0	86.0	68.8
Adults	233	31.2	Retention Rate	239	259	92.3	90.5	72.4
Dislocated Workers	253	33.9	Earnings Change	2,200,408	2,626,017	83.8	86.0	68.8
Younger Youth	223	29.9	Empl & Credential	97	119	82.0	60.0	48.0
Older Youth	38	5.1	Older Youth Entered Employment	27	33	81.8	68.0	54.4
Time Periods			Retention Rate	32	37	86.5	81.0	64.8
Registrants	Jul-04	Jun-05	Earnings Change	105,417	36	2,928	2985	2388
Exiters	Apr-04	Mar-05	Credential	30	44	68.2	50.0	40.0
Entered Employment Rate	Oct-03	Sep-04	Younger Youth					
Retention Rate	Apr-03	Mar-04	Skill Attainment	442	480	92.1	75.0	60.0
Earnings Change	Apr-03	Mar-04	Diploma or Equivalent	20	36	55.6	50.0	40.0
Employment & Credential Rate	Oct-03	Sep-04	Retention Rate	27	39	69.2	58.0	46.4
Customer Satisfaction	Jan-04	Dec-04						
Diploma or Equivalent Rate	Apr-04	Mar-05						
Skill Attainment Rate	Apr-04	Mar-05						
			Customer Satisfaction	Sample Complete	Response	CSI Index		
			Participant	246 200	81.3	85.40	75.0	60.0

Employer

258

190

Community Colleges and Workforce Development

WIA 1B Performance Measures

Program Year:

2004

Report Type:

ANNUAL

Participation Summary

REGION 15

Region:

Program Outcomes

Program Participation	Total	Pct.	Performance Measure			Rptd. Perf.	Neg. Level	80% Neg Level
Registrants:	891		Adult	Num.	Den.			
Adults	223	25.0	Entered Employment	58	117	49.6	75.0	60.0
Dislocated Workers	224	25.1	Retention Rate	129	150	86.0	80.1	64.1
Younger Youth	368	41.3	Earnings Change	501,273	147	3,410	3200	2560
Older Youth	76	8.5	Empl & Credential	15	42	35.7	60.0	48.0
Exiters:	275		Dislocated Worker	1.41	100	70.0		
Adults	57	20.7	Entered Employment	141	199	70.9	86.0	68.8
Dislocated Workers	97	35.3	Retention Rate Earnings Change	163	181	90.1	90.0	72.0
Younger Youth	94	34.2	Earnings Change Empl & Credential	2,092,583	2,632,876	79.5	81.0	64.8
Older Youth	27	9.8	Older Youth	66	118	56.0	60.0	48.0
			Entered Employment	8	14	57.1	65.0	52.0
Time Periods			Retention Rate	14	18	77.8	72.0	57.6
Registrants	Jul-04	Jun-05	Earnings Change	42,399	17	2,494	2985	2388
Exiters	Apr-04	Mar-05	Credential	9	17	52.9	50.0	40.0
Entered Employment Rate	Oct-03	Sep-04	Younger Youth					
Retention Rate	Apr-03	Mar-04	Skill Attainment	238	296	80.4	75.0	60.0
Earnings Change	Apr-03	Mar-04	Diploma or Equivalent	29	58	50.0	51.0	40.8
Employment & Credential Rate	Oct-03	Sep-04	Retention Rate	70	100	70.0	58.0	46.4
Customer Satisfaction	Jan-04	Dec-04						
Diploma or Equivalent Rate	Apr-04	Mar-05						
Skill Attainment Rate	Apr-04	Mar-05						
			Customer Satisfaction	Sample Complete	Response	CSI		
				Size Surveys	Rate	Index		
			Participant	181 111	61.3	78.70	75.0	60.0
			Employer	298 194	65.1	73.60	71.0	56.8

Community Colleges and Workforce Development

WIA 1B Performance Measures

Program Year:

2004 ANNUAL

Region: TOC/OWA, REG 1,6,7,9-14

Report Type:

Participation Summary

Program Outcomes

Program Participation	Total	Pct.	Performance Measure			Rptd. Perf.	Neg. Level	80% Neg Level
Registrants:	5,192		Adult	Num.	Den.			
Adults	2,064	39.8	Entered Employment	1,075	1,187	90.6	72.2	57.8
Dislocated Workers	1,729	33.3	Retention Rate	1,126	1,351	83.3	81.2	65.0
Younger Youth	1,166	22.5	Earnings Change	3,923,951	1,200	3,270	2000	1600
Older Youth	233	4.5	Empl & Credential	141	220	64.1	60.0	48.0
Exiters:	2,899		Dislocated Worker Entered Employment	835	940	88.8	83.0	66.4
Adults	1,340	46.2	Retention Rate	982	1,075	91.3	88.8	71.0
Dislocated Workers	851	29.4	Earnings Change	11,010,724	11,836,858	93.0	86.0	68.8
Younger Youth	615	21.2	Empl & Credential	261	405	64.0	60.0	48.0
Older Youth	93	3.2	Older Youth Entered Employment	54	69	78.3	69.0	55.2
Time Periods			Retention Rate	65	82	79.3	81.0	64.8
Registrants	Jul-04	Jun-05	Earnings Change	387,399	75	5,165	2985	2388
Exiters	Apr-04	Mar-05	Credential	44	82	53.7	50.0	40.0
Entered Employment Rate	Oct-03	Sep-04	Younger Youth					
Retention Rate	Apr-03	Mar-04	Skill Attainment	1,151	1,327	86.7	75.0	60.0
Earnings Change	Apr-03	Mar-04	Diploma or Equivalent	238	310	76.8	57.0	45.6
Employment & Credential Rate	Oct-03	Sep-04	Retention Rate	217	338	64.2	58.0	46.4
Customer Satisfaction	Jan-04	Dec-04						
Diploma or Equivalent Rate	Apr-04	Mar-05						
Skill Attainment Rate	Apr-04	Mar-05						
			Customer Satisfaction	Sample Complete	e Response Rate	CSI Index		
			Participant	292 158	54.1	79.00	75.0	60.0
			Employer	290 216	74.5	75.40	71.0	56.8

Community Colleges and Workforce Development

WIA 1B Performance Measures

Program Year:

2004

Report Type:

ANNUAL

Part:	icipati	on Summary

Region: MTC-TOC DIST 1

Program Outcomes

Date: 09/30/2005

Program Participation	Total	Pct.	Performance Measure			Rptd. Perf.	Neg. Level	80% Neg Level
Registrants:	637		Adult	Num.	Den.			
Adults	157	24.6	Entered Employment	51	52	98.1		
Dislocated Workers	221	34.7	Retention Rate	46	48	95.8		
Younger Youth	239	37.5	Earnings Change	147,480	42	3,511		
Older Youth	20	3.1	Empl & Credential	6	8	75.0		
Exiters:	278		Dislocated Worker Entered Employment	132	139	95.0		
Adults	84	30.2	Retention Rate	181	192	94.3		
Dislocated Workers	119	42.8	Earnings Change	1,951,734	2,218,512	88.0		
Younger Youth	68	24.5	Empl & Credential	19	31	61.0		
Older Youth	7	2.5	Older Youth Entered Employment	7	7	100.0		
Time Periods			Retention Rate	8	8	100.0		
Registrants	Jul-04	Jun-05	Earnings Change	21,486	5	4,297		
Exiters	Apr-04	Mar-05	Credential	6	8	75.0		
Entered Employment Rate	Oct-03	Sep-04	Younger Youth					
Retention Rate	Apr-03	Mar-04	Skill Attainment	222	235	94.5		
Earnings Change	Apr-03	Mar-04	Diploma or Equivalent	42	47	89.4		
Employment & Credential Rate	Oct-03	Sep-04	Retention Rate	27	37	73.0		
Customer Satisfaction	Jan-04	Dec-04						
Diploma or Equivalent Rate	Apr-04	Mar-05						
Skill Attainment Rate	Apr-04	Mar-05						
			Customer Satisfaction	Sample Complete	Response Rate	CSI Index		
			Participant	Dar veys				

Community Colleges and Workforce Development

WIA 1B Performance Measures

Program Year:

2004 ANNUAL

Region: UT&E-TOC DIST 6

Participation Summary

Report Type:

Program Outcomes

Date: 09/30/2005

Program Participation	Total	Pct.	Performance Measure			Rptd. Perf.	Neg. Level	80% Neg Level
Registrants:	449		Adult	Num.	Den.			
Adults	139	31.0	Entered Employment	23	24	95.8		
Dislocated Workers	145	32.3	Retention Rate	44	48	91.7		
Younger Youth	115	25.6	Earnings Change	344,194	45	7,649		
Older Youth	50	11.1	Empl & Credential	33	48	68.8		
Exiters:	176		Dislocated Worker Entered Employment	52	55	94.5		
Adults	62	35.2	Retention Rate	69	70	98.6		
Dislocated Workers	45	25.6	Earnings Change	838,765	916,345	91.5		
Younger Youth	56	31.8	Empl & Credential	42	51	82.0		
Older Youth	13	7.4	Older Youth Entered Employment	8	10	80.0		
Time Periods			Retention Rate	17	23	73.9		
Registrants	Jul-04	Jun-05	Earnings Change	193,904	22	8,814		
Exiters	Apr-04	Mar-05	Credential	13	15	86.7		
Entered Employment Rate	Oct-03	Sep-04	Younger Youth					
Retention Rate	Apr-03	Mar-04	Skill Attainment	73	98	74.5		
Earnings Change	Apr-03	Mar-04	Diploma or Equivalent	7	10	70.0		
Employment & Credential Rate	Oct-03	Sep-04	Retention Rate	21	35	60.0		
Customer Satisfaction	Jan-04	Dec-04						
Diploma or Equivalent Rate	Apr-04	Mar-05						
Skill Attainment Rate	Apr-04	Mar-05						
			Customer Satisfaction	Sample Complete	Response Rate	CSI Index		
			Participant					

Community Colleges and Workforce Development

WIA 1B Performance Measures

Program Year:

2004

Region: SCBEC-TOC DIST 7 Report Type:

ANNUAL

Participation Summary

Program Outcomes

Program Participation	Total	Pct.	Performance Measure			Rptd. Perf.	Neg. Level	80% Neg Level
Registrants:	524		Adult	Num.	Den.			
Adults	182	34.7	Entered Employment	54	69	78.3		
Dislocated Workers	150	28.6	Retention Rate	60	73	82.2		
Younger Youth	145	27.7	Earnings Change	187,540	72	2,605		
Older Youth	47	9.0	Empl & Credential	26	35	74.3		
Exiters:	382		Dislocated Worker	107	147	72.8		
Adults	117	30.6	Entered Employment Retention Rate	107	126	81.0		
Dislocated Workers	126	33.0	Earnings Change	1,357,888	1,023,630	132.7		
Younger Youth	109	28.5	Empl & Credential	40	74	54.0		
Older Youth	30	7.9	Older Youth Entered Employment	16	20	80.0		
Time Periods			Retention Rate	11	13	84.6		
Registrants	Jul-04	Jun-05	Earnings Change	52,829	11	4,803		
Exiters	Apr-04	Mar-05	Credential	12	23	52.2		
Entered Employment Rate	Oct-03	Sep-04	Younger Youth					
Retention Rate	Apr-03	Mar-04	Skill Attainment	200	232	86.2		
Earnings Change	Apr-03	Mar-04	Diploma or Equivalent	57	73	78.1		
Employment & Credential Rate	Oct-03	Sep-04	Retention Rate	34	63	54.0		
Customer Satisfaction	Jan-04	Dec-04						
Diploma or Equivalent Rate	Apr-04	Mar-05						
Skill Attainment Rate	Apr-04	Mar-05						
			Customer Satisfaction	Sample Complete	Response Rate	CSI Index		
			Participant	-				
			Employer					

Community Colleges and Workforce Development

WIA 1B Performance Measures

Program Year:

2004

Region: MCOG-TOC DIST 9

Report Type:

ANNUAL

Date: 09/30/2005

Participation Summary	Program Outcomes
-----------------------	------------------

Program Participation	Total	Pct.	Performance Measure				Rptd. Perf.	Neg. Level	80% Neg Level
Registrants:	433		Adult		Num.	Den.			
Adults	158	36.5	Entered Employment		58	67	86.6		
Dislocated Workers	143	33.0	Retention Rate		79	92	85.9		
Younger Youth	106	24.5	Earnings Change	2	257,139	87	2,956		
Older Youth	26	6.0	Empl & Credential		10	22	45.5		
Exiters:	247		Dislocated Worker Entered Employment		112	127	88.2		
Adults	82	33.2	Retention Rate		141	158	89.2		
Dislocated Workers	88	35.6	Earnings Change	1.7	705,869	2,462,525	69.3		
Younger Youth	63	25.5	Empl & Credential	,	39	66	59.0		
Older Youth	14	5.7	Older Youth Entered Employment		7	10	70.0		
Time Periods			Retention Rate		13	15	86.7		
Registrants	Jul-04	Jun-05	Earnings Change		50,713	15	3,381		
Exiters	Apr-04	Mar-05	Credential			11	18.2		
Entered Employment Rate	Oct-03	Sep-04	Younger Youth						
Retention Rate	Apr-03	Mar-04	Skill Attainment		77	102	75.5		
Earnings Change	Apr-03	Mar-04	Diploma or Equivalent		21	29	72.4		
Employment & Credential Rate	_	Sep-04	Retention Rate		21	38	55.3		
Customer Satisfaction	Jan-04	Dec-04							
Diploma or Equivalent Rate	Apr-04	Mar-05							
Skill Attainment Rate	Apr-04	Mar-05							
			Customer Satisfaction	Sample Size	Complete	Response	CSI Index		

Participant Employer

Community Colleges and Workforce Development

WIA 1B Performance Measures

Program Year:

2004

Date: 09/30/2005

Region: COIC-TOC DIST 10

Report Type: ANNUAL

Participation Summary Program Outcomes

	шат у			FIOGIAM Out	Comes			
Program Participation	Total	Pct.	Performance Measure	e		Rptd. Perf.	Neg. Level	80% Neg Level
Registrants:	415		Adult	Num.	Den.			
Adults	122	29.4	Entered Employment	50	60	83.3		
Dislocated Workers	164	39.5	Retention Rate	91	102	89.2		
Younger Youth	115	27.7	Earnings Change	187,893	85	2,211		
Older Youth	14	3.4	Empl & Credential	12	14	85.7		
Exiters:	240		Dislocated Worker Entered Employment	107	117	91.5		
Adults	73	30.4	Retention Rate	99	106	93.4		
Dislocated Workers	104	43.3	Earnings Change	939,087	1,187,433	79.1		
Younger Youth	58	24.2	Empl & Credential	49	63	78.0		
Older Youth	5	2.1	Older Youth Entered Employment		4	75.0		
Time Periods			Retention Rate		4	75.0		
Registrants	Jul-04	Jun-05	Earnings Change	14,218	4	3,554		
Exiters	Apr-04	Mar-05	Credential	1	5	40.0		
Entered Employment Rate	Oct-03	Sep-04	Younger Youth					
Retention Rate	Apr-03	Mar-04	Skill Attainment	104	122	85.2		
Earnings Change	Apr-03	Mar-04	Diploma or Equivalent	27	35	77.1		
Employment & Credential Rate	Oct-03	Sep-04	Retention Rate	34	40	85.0		
Customer Satisfaction	Jan-04	Dec-04						
Diploma or Equivalent Rate	Apr-04	Mar-05						
Skill Attainment Rate	Apr-04	Mar-05						
			Customer Satisfaction	on Sample Complete Size Surveys	Response	CSI Index		
			Participant	•				
			-					

Community Colleges and Workforce Development

WIA 1B Performance Measures

Program Year:

2004

Region: KLETI-TOC DIST 11

Report Type:

ANNUAL

Date: 09/30/2005

Participation Summary	Program Outcomes
-----------------------	------------------

Program Participation	Total	Pct.	Performance Measure			Rptd. Perf.	Neg. Level	80% Neg Level
Registrants:	1,204		Adult	Num.	Den.			
Adults	961	79.8	Entered Employment	711	763	93.2		
Dislocated Workers	133	11.0	Retention Rate	634	790	80.3		
Younger Youth	103	8.6	Earnings Change	2,231,562	691	3,229		
Older Youth	7	0.6	Empl & Credential		4	75.0		
Exiters: Adults	862	01 0	Dislocated Worker Entered Employment	88	95	92.6		
Dislocated Workers	706	81.9	Retention Rate	121	135	89.6		
Younger Youth	53	6.1 11.7	Earnings Change	1,312,773	1,288,857	101.9		
Older Youth	101	0.2	Empl & Credential Older Youth Entered Employment	4	8	50.0		
Time Periods			Retention Rate			100.0		
Registrants	Jul-04	Jun-05	Earnings Change			3,650		
Exiters	Apr-04	Mar-05	Credential					
Entered Employment Rate	Oct-03	Sep-04	Younger Youth					
Retention Rate	Apr-03	Mar-04	Skill Attainment	176	203	86.7		
Earnings Change	Apr-03	Mar-04	Diploma or Equivalent	9	14	64.3		
Employment & Credential Rate	Oct-03	Sep-04	Retention Rate	6	15	40.0		
Customer Satisfaction	Jan-04	Dec-04						
Diploma or Equivalent Rate	Apr-04	Mar-05						
Skill Attainment Rate	Apr-04	Mar-05						
			Customer Satisfaction	Sample Complete	Response	CSI Index		
			Participant	vo, b				

Community Colleges and Workforce Development

WIA 1B Performance Measures

Program Year:

2004 ANNUAL

Region: CAPECO-TOC DIST 12

Report Type:

Program Participation	Total	Pct.	Performance Measure	1			Rptd. Perf.	Neg. Level	80% Neg Level
Registrants:	999		Adult	N	um.	Den.			
Adults	176	17.6	Entered Employment		64	82	78.0		
Dislocated Workers	544	54.5	Retention Rate		101	119	84.9		
Younger Youth	235	23.5	Earnings Change	35	7,513	115	3,109		
Older Youth	44	4.4	Empl & Credential		16	33	48.5		
Exiters:	385		Dislocated Worker Entered Employment		95	102	93.1		
Adults	99	25.7	Retention Rate		110	125	88.0		
Dislocated Workers	164	42.6	Earnings Change	1,16	8,817	1,200,161	97.4		
Younger Youth	114	29.6	Empl & Credential		21	35	60.0		
Older Youth	8	2.1	Older Youth Entered Employment		6	6	100.0		
Time Periods			Retention Rate		Ū	7	42.9		
Registrants	Jul-04	Jun-05	Earnings Change	1	1,468	6	1,911		
Exiters	Apr-04	Mar-05	Credential		4	6	66.7		
Entered Employment Rate	Oct-03	Sep-04	Younger Youth						
Retention Rate	Apr-03	Mar-04	Skill Attainment		190	217	87.6		
Earnings Change	Apr-03	Mar-04	Diploma or Equivalent		46	63	73.0		
Employment & Credential Rate	Oct-03	Sep-04	Retention Rate		31	49	63.3		
Customer Satisfaction	Jan-04	Dec-04							
Diploma or Equivalent Rate	Apr-04	Mar-05							
Skill Attainment Rate	Apr-04	Mar-05							
			Customer Satisfaction	Sample	Complete Surveys	Response Rate	CSI Index		
			Participant						
			Employer						

Community Colleges and Workforce Development

WIA 1B Performance Measures

Program Year:

2004

Region: TEC-TOC DIST 13

Report Type: ANNUAL

Program Outcomes

Date: 09/30/2005

Program Participation	Total	Pct.	Performance Measure				Rptd. Perf.	Neg. Level	80% Neg Level
Registrants:	251		Adult		Num.	Den.			
Adults	78	31.1	Entered Employment		29	34	85.3		
Dislocated Workers	112	44.6	Retention Rate		21	24	87.5		
Younger Youth	50	19.9	Earnings Change		42,902	18	2,383		
Older Youth	11	4.4	Empl & Credential		17	27	63.0		
Exiters: Adults	173 58	33.5	Dislocated Worker Entered Employment		74	81	91.4		
Dislocated Workers	90	52.0	Retention Rate		69	70	98.6		
Younger Youth	18	10.4	Earnings Change	6	592,553	610,261	113.5		
Older Youth	18 7	4.0	Empl & Credential		23	41	56.0		
Time Periods	I	4.0	Older Youth Entered Employment		7	7	100.0		
			Retention Rate		4	6	66.7		
Registrants	Jul-04	Jun-05	Earnings Change		16,310	6	2,718		
Exiters	Apr-04	Mar-05	Credential		5	9	55.6		
Entered Employment Rate	Oct-03	Sep-04	Younger Youth		5.0		00 5		
Retention Rate	Apr-03	Mar-04	Skill Attainment		58	62	93.5		
Earnings Change	Apr-03	Mar-04	Diploma or Equivalent		10	16	62.5		
Employment & Credential Rate		Sep-04	Retention Rate		21	30	70.0		
Customer Satisfaction	Jan-04	Dec-04							
Diploma or Equivalent Rate	Apr-04	Mar-05							
Skill Attainment Rate	Apr-04	Mar-05							
			Customer Satisfaction	Sample Size	Complete Surveys	Response Rate	CSI Index		

Participant Employer

Community Colleges and Workforce Development

WIA 1B Performance Measures

Program Year:

2004

Region: TEC-TOC DIST 14

Report Type:

ANNUAL

Participation Summary	Program Outcomes	
	P-4	

Program Participation	Total	Pct.	Performance Measure			Rptd. Perf.	Neg. Level	80% Neg Level
Registrants:	280		Adult	Num.	Den.			
Adults	91	32.5	Entered Employment	35	36	97.2		
Dislocated Workers	117	41.8	Retention Rate	50	55	90.9		
Younger Youth	58	20.7	Earnings Change	167,728	45	3,727		
Older Youth	14	5.0	Empl & Credential	18	29	62.1		
Exiters:	156		Dislocated Worker Entered Employment	68	77	88.3		
Adults	59	37.8	Retention Rate	90	93	96.8		
Dislocated Workers	62	39.7	Earnings Change	1,043,239	929,134	112.3		
Younger Youth	28	17.9	Empl & Credential	24	36	67.0		
Older Youth	7	4.5	Older Youth Entered Employment			0.0		
Time Periods			Retention Rate			100.0		
Registrants	Jul-04	Jun-05	Earnings Change			5,174		
Exiters	Apr-04	Mar-05	Credential					
Entered Employment Rate	Oct-03	Sep-04	Younger Youth					
Retention Rate	Apr-03	Mar-04	Skill Attainment	51	56	91.1		
Earnings Change	Apr-03	Mar-04	Diploma or Equivalent	19	23	82.6		
Employment & Credential Rate	Oct-03	Sep-04	Retention Rate	22	31	71.0		
Customer Satisfaction	Jan-04	Dec-04						
Diploma or Equivalent Rate	Apr-04	Mar-05						
Skill Attainment Rate	Apr-04	Mar-05						
			Customer Satisfaction	ample	Dognongo	CGT		

Sample Size

Surveys

Complete Response Rate

CSI Index

Date: 09/30/2005

Participant Employer